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91603  Demonstrate understanding of the responses of 

plants and animals to their external environment
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Credits: Five

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of the 
responses of plants and animals to their 
external environment.

Demonstrate in-depth understanding of 
the responses of plants and animals to 
their external environment.

Demonstrate comprehensive 
understanding of the responses of 
plants and animals to their external 
environment.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 15 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Achievement

10

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

































Annotated  Exemplar  –  A10  -­  127846435  

Excellence  exemplar  2016  

Subject:   Biology   Standard:   91603   Total  score:   10  

Q  
Grade  

score  
Annotation  

1   A3  

This  is  a  borderline  Achieved  answer,  but  the  candidate  correctly  identifies  

territoriality,  mutualism  and  agnostic  behaviour.  They  don’t  identify  parasitism,  

instead,  incorrectly  stating  the  relationship  is  commensalism.  For  Merit,  costs  
and  benefits  are  required  for  BOTH  species  in  TWO  of  the  relationships,  and  

this  student  does  not  reach  that  point.  

2   A3  

The  candidate  gets  the  order  of  the  hierarchy  slightly  wrong.  They  also  

incorrectly  identify  the  Hyena  that  is  challenging.  Despite  this,  the  candidate  
shows  an  understanding  of  the  term  hierarchy,  which  although  not  clearly  

defined  in  a  single  statement,  is  obviously  understood.  The  candidate  is  also  

credited  for  describing  how  hierarchy  is  maintained  as  well  as  factors  affecting  

position  in  the  hierarchy  for  a  further  point.  The  descriptions  are  too  weak  to  
transit  to  explanations  and  don’t  gain  credit  towards  Merit.  Although  there  is  

some  explanation  of  the  benefit  to  remaining  in  a  hierarchy,  a  minimum  of  

TWO  clear  explanations  is  not  given  and  M5  was  not  awarded.  

3   A4  

The  candidate  provides  a  definitions  of  Zeitgeber  &  Entrainment,  which  whilst  

not  ‘textbook’  do  convey  understanding  of  the  terms.    

In  addition  the  candidate  describes  aspects  of  the  graph  and  describes  an  

advantage  of  the  behaviour.  These  descriptions  although  starting  to  explain  
give  insufficient  detail  to  provide  evidence  towards  M5  (any  2)  or  M6  (any  3)  


